SARDT — LEFREELHERR (FF5)

F— L% 1% | 2 | 3F | 4% | 5%F | 65 | 3

1 | EFBEVEHKSZ 7 0 0 3 6 4 3 16
2 |RBELEHKS T 0 0 1 2 3 0 6
3 (AR —A BRI ST 1 0 2 3 4 4 14
4 |BEMDEHKRS T T 0 3 2 4 12 7 28
5 |EDEHS T 0 0 3 3 7 2 15
6 |BBE—277bhrlE 0 4 2 2 9 3 20
7 |HRE=0T77 0 1 2 b 4 4 16
8 | EHKs T 0 0 4 4 4 6 18
9 |LRGELEEKS T 0 3 4 4 3 3 17
10 |HWD757 0 4 5 b 9 6 29
11 =\ FEEHKs 77 2 2 1 Q) I Q) 22
12 |HESEHKS 77 0 0 4 b 2 3 14
13 |[BF&ESF7 1 0 4 6 2 1 14
14 |BBE=077 0 1 2 4 9 10 26
15 |[#k/ <7 —X 0 1 3 4 1 9 18
16 | IHDEFRSZT 7 0 4 2 3 4 20
17 |EBIPEHKS 77 3 1 5 0 4 b 18
18 |&h)I|DEBKS 77 0 2 2 1 3 2 10
19 |h/ BOEHRs 77 1 0 4 2 7 2 16
20 |ERLEFKIZT 0 2 2 6 7 8 25
21 |AEAXKS 77 0 4 1 4 2 1 12
22 |HBINAFHKS 77 0 2 1 0 3 3 9
23 |[EBRY v —7 R 0 2 1 b 5 9 22

15 32 62 82| 114 100] 405




